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QUESTION 1

What is the primary purpose of the Wave Template Search Screen?

A. to identify all outbound loads that have not completed picking yet

B. to determine how many picking tasks will be waved for picking

C. to determine which available orders will be waved for picking

D. to determine the locked locations for inventory allocation

E. to determine from which part of the warehouse the inventory will be allocated
Correct Answer: B

Reference: https://docs.oracle.com/cd/E18727_01/doc.121/e13433/T211976T536591.htm

QUESTION 2

Your customer wants to have the Purchase order created in their legacy ERP system and download it to
Oracle WMS Cloud.

Identify four mandatory field values that must be present in the Purchase order to be successfully
downloaded to the WMS Cloud system. (Choose four.)

A. Ship Date

B. IB Shipment

C. License Plate Number

D. Vendor code

E. item

F. Item Quantity

G. Purchase Order Number

Correct Answer: DEFG

QUESTION 3

Your client wants to do flow-through allocations. Which two types of packing transactions achieve this flow? (Choose
two.)
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A. Packlpn

B. Pick Cart
C. Distribution
D. PackNC

Correct Answer: CD

QUESTION 4

Which three interface validations cause the Advance Shipment Notifications (ASN) to fail when uploading to WMS
Cloud? (Choose three.)

A. A Purchase Order that is referenced on the ASN doesn\\'t exist in WMS Cloud.
B. ASN Qty and Purchase Qty do not match in WMS Cloud.

C. ASN data is past the shipping date.

D. Purchase Detail line and ASN Detail line do not match in WMS Cloud.

E. ASN file has invalid data format.

Correct Answer: BDE

QUESTION 5

You are creating a standard report for a client to display LPN Numbers (for multi-SKU LPNs) and their associated items.
The two data fields you have in your report are LPN Number and Item Code. Identify what controls need to be set to
create a sub-total for the number of items for each LPN.

A. Set the Summary Function for item to "Count" and check the Summarize By box for LPN.

B. Set the Summary Function for item to "Total" and check the Group By box for LPN.

C. Set the Summary Function for LPN to "Count" and check the Summarize By box for Item.

D. Set the Summary Function for LPN to "Total" and check the Group By box for item.

Correct Answer: A
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